Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 5 - Heldon and Laich

5,142

4

1,029

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
James ALLAN	Scottish Conservative and Unionist	1,953
John COWE	Independent	789
Ryan John EDWARDS	Independent	541
James MACKESSACK-LEITCH	Scottish Greens	240
John MITCHELL	Scottish Liberal Democrats	116
Amy PATIENCE	Scottish National Party (SNP)	976
Dennis SLATER	Independent	527
	Total	5,142

Candidate James ALLAN Elected with 1,953 votes, being in excess of the quota of 1,029

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of James ALLAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALLAN	0	0.00000	0.00000
Transfer to John COWE	541	0.47311	255.95251
Transfer to Ryan John EDWARDS	256	0.47311	121.11616
Transfer to James MACKESSACK-LEITCH	99	0.47311	46.83789
Transfer to John MITCHELL	179	0.47311	84.68669
Transfer to Amy PATIENCE	42	0.47311	19.87062
Transfer to Dennis SLATER	276	0.47311	130.57836
Value of non-transferable ballot papers			264.95777
	Total		924.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of John COWE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALLAN	0	0.00000	0.00000
Transfer to John COWE	0	0.00000	0.00000
Transfer to Ryan John EDWARDS	256	0.00722	1.84832
Transfer to Ryan John EDWARDS	260	0.01526	3.96760
Transfer to James MACKESSACK-LEITCH	13	0.00722	0.09386
Transfer to James MACKESSACK-LEITCH	57	0.01526	0.86982
Transfer to John MITCHELL	23	0.00722	0.16606
Transfer to John MITCHELL	32	0.01526	0.48832
Transfer to Amy PATIENCE	6	0.00722	0.04332
Transfer to Amy PATIENCE	39	0.01526	0.59514
Transfer to Dennis SLATER	145	0.00722	1.04690
Transfer to Dennis SLATER	275	0.01526	4.19650
Value of non-transferable ballot papers			2.63667
	Total		15.95251

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of John MITCHELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALLAN	0	0.00000	0.00000
Transfer to John COWE	0	0.00000	0.00000
Transfer to Ryan John EDWARDS	7	0.00722	0.05054
Transfer to Ryan John EDWARDS	7	0.01526	0.10682
Transfer to Ryan John EDWARDS	40	0.47311	18.92440
Transfer to Ryan John EDWARDS	19	1.00000	19.00000
Transfer to James MACKESSACK-LEITCH	1	0.00722	0.00722
Transfer to James MACKESSACK-LEITCH	36	0.47311	17.03196
Transfer to James MACKESSACK-LEITCH	42	1.00000	42.00000
Transfer to Amy PATIENCE	2	0.01526	0.03052
Transfer to Amy PATIENCE	5	0.47311	2.36555
Transfer to Amy PATIENCE	15	1.00000	15.00000
Transfer to Dennis SLATER	3	0.00722	0.02166
Transfer to Dennis SLATER	9	0.01526	0.13734
Transfer to Dennis SLATER	33	0.47311	15.61263
Transfer to Dennis SLATER	14	1.00000	14.00000
Value of non-transferable ballot papers			57.05243
	Total		201.34107

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of James MACKESSACK-LEITCH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALLAN	0	0.00000	0.00000
Transfer to John COWE	0	0.00000	0.00000
Transfer to Ryan John EDWARDS	3	0.00722	0.02166
Transfer to Ryan John EDWARDS	12	0.01526	0.18312
Transfer to Ryan John EDWARDS	25	0.47311	11.82775
Transfer to Ryan John EDWARDS	51	1.00000	51.00000
Transfer to John MITCHELL	0	0.00000	0.00000
Transfer to Amy PATIENCE	12	0.01526	0.18312
Transfer to Amy PATIENCE	9	0.47311	4.25799
Transfer to Amy PATIENCE	92	1.00000	92.00000
Transfer to Dennis SLATER	1	0.00722	0.00722
Transfer to Dennis SLATER	16	0.01526	0.24416
Transfer to Dennis SLATER	22	0.47311	10.40842
Transfer to Dennis SLATER	57	1.00000	57.00000
Value of non-transferable ballot papers			119.70731
	Total		346.84075

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Amy PATIENCE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALLAN	0	0.00000	0.00000
Transfer to John COWE	0	0.00000	0.00000
Transfer to Ryan John EDWARDS	2	0.00052	0.00104
Transfer to Ryan John EDWARDS	10	0.00111	0.01110
Transfer to Ryan John EDWARDS	12	0.03466	0.41592
Transfer to Ryan John EDWARDS	258	0.07326	18.90108
Transfer to James MACKESSACK-LEITCH	0	0.00000	0.00000
Transfer to John MITCHELL	0	0.00000	0.00000
Transfer to Amy PATIENCE	0	0.00000	0.00000
Transfer to Dennis SLATER	2	0.00052	0.00104
Transfer to Dennis SLATER	15	0.00111	0.01665
Transfer to Dennis SLATER	15	0.03466	0.51990
Transfer to Dennis SLATER	238	0.07326	17.43588
Value of non-transferable ballot papers			44.04365
	Total		81.34626

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Dennis SLATER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALLAN	0	0.00000	0.00000
Transfer to John COWE	0	0.00000	0.00000
Transfer to Ryan John EDWARDS	1	0.00052	0.00052
Transfer to Ryan John EDWARDS	9	0.00111	0.00999
Transfer to Ryan John EDWARDS	67	0.00722	0.48374
Transfer to Ryan John EDWARDS	123	0.01526	1.87698
Transfer to Ryan John EDWARDS	4	0.03466	0.13864
Transfer to Ryan John EDWARDS	127	0.07326	9.30402
Transfer to Ryan John EDWARDS	157	0.47311	74.27827
Transfer to Ryan John EDWARDS	295	1.00000	295.00000
Transfer to James MACKESSACK-LEITCH	0	0.00000	0.00000
Transfer to John MITCHELL	0	0.00000	0.00000
Transfer to Amy PATIENCE	0	0.00000	0.00000
Value of non-transferable ballot papers			397.13450
	Total		778.22666